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a) if(ape>=65);
qual to 65" <<endl;

cout<<"Age is greater than or ¢

clse
cout<<'Age is less than 65 <<endl";

b) if( age>=65)
cout<<"Age is greater than or equal to 65" <<endl;

else;
cout<<'"Age is less than 65 <<endl";

While ( x <=100)
total += x;
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d) while(y=0){

cout<<y <<endl;
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13, What is the output of the following program? (5 pts)
#include<iostream>
using namespace std;
int main() {

Sor(inti=1i<=5;i+4) {
Jor(int j=L;j<=5+%)
feowr<<I;}
cour<<endl;}}

Scanned by CamScanner



Scanned by CamScanner



Part K WELCS caplitel ST e statarng % corpget i s £
1. Th N avid. w v
[ B e length of g String doey otielgde he E‘fiﬂﬂ' ; gf"c y ﬁ*ﬁ‘
: ) - | | 1 y o
* 2. Any array of charageiey can tye o 4 o dﬂnﬂ 5‘119 g o
_ ' e conver !

“ 3.1t is possible 1o crenge v u{f”r \

| PERIe 0 cremte twe dimangions! 00 o 45

' 9
_4 Any of the three exprecc: o P
e Hhiree expression in o gor 107 4

BN . Assigoment sttements e g

Scanned by CamScanner



Scanned by CamScanner



" ent’!
Whigy, One of  stateme?
Cof the =himE
ollow : anc
OWINg is true about bré ggide @ loop-.
A s ant OV
I' 15 il error : . -I-”‘.”]c I : 1‘-,“11.
or to uge ”H.' continue = a

. L-
lilll"""|

B, It is an e value to its caller.

2

. e 1oL Lo
ITOr [0 use the hreak 501" o retu™ !
& clhit ¥

l'he retum statement gnables # fur

% D. A 1l of the Above - l-]\:;;;|i.1-l’$'|[10n'-’
arte
{ an arts]
s ghot
{ Lrug * _

6, Whi Y |
1 Which one of the following is P9

rame(]
. cayNam
A i J B le“]g arréy
« A0t arrayNamel[]:
; ‘ D. Noné _
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D. int array4 [2]2]° {2,40: 7 ]

E all ofthe ghove
m 8 'Which one of

{1,3,5.7.9,1117);

A, arrayName has 7 elements

ihe following is not true about the array int arrayName [| =

B. size of arrayName is 7
(. it has syntax error
D. all of the above

l ' E. none
j— : -
_ 9. Among the following control statement which one is odd?
A. break: C
. got
B. continye i
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